PROJECTED CAPACITIVE MODEL

392.2 (EDGE OF SCREEN)
— 3.1 FOAM SEAL (ALL AROUND) RO.6 , X4
| 7
e X Z
|
338.9 ACTIVE AREA
327.5
(EDGE OF SCREEN)
271.3 ACTIVE AREA
7
\\ X

DIMENSIONS ARE IN MILLIMETERS

DIMENSIONAL DRAWING: ET1790L

REAR EDGE MOUNT
18.8 —=

42.8

T ﬁ@%
@ | | ® |

O o u_\OL

m

328.6

VESA MOUNT (NOT CENTERED)
M4 THREAD
MAX SCREW DEPTH = 7MM, X8

|

REAR EDGE
MOUNT
316.6

O ——— -

c 7

A=t

A

Fol—
O

A

—

VGA VIDEO IN
DISPLAYPORT IN
DC POWER INPUT

0=+ et E n ]
- N ’ 106.9
— ©
H
© @) ]E@E }
@) O Lﬂ Z
o
75 100
@) @) FD X
®) o E”a |
\ ) - |
I
T
109.7
O)
l %u—r‘ | ]
REAR EDGE MOUNT
381.2
REAR EDGE MOUNTING
M4 THREADS, X8
MAX SCREW DEPTH = 6MM FROM
MOUNTING SURFACE
393.2
REMOTE OSD (INCLUDED)
TOUCH USB OUT
\
Eﬂm i \Lﬂ E%
a) — ‘
Zﬂ REAR EDGE MOUNT
18.8
elo
MS601691
SHEET 1 OF 6 DATE: 01/06/2016
REV: A




PROJECTED CAPACITIVE MODEL

WITH FLUSH MOUNTING BRACKETS (4 INCLUDED)

REPLACEMENT BRACKET KIT P/N E129564 AVAILABLE SEPARATELY

M4 THREAD, X8
4.5 THRU, X8

| (0o © d| ‘ I
a N
o] o |
© ©
132, X4
© ©
] o ¥
354.6
\ ¥
0 0 © O] |
419.2
] H ++
I ' I

330.7+0.3

| T

1 20 "B"

CHOOSE ONE:

344.5
100 "A"

1

RECOMMENDED CUSTOMER PANEL CUT-OUT

"A" = CLEARANCE HOLES FOR M4 SCREWS
"B" = M4 THREADED HOLES OR M4 CONCEALED
HEAD THREADED STUDS WITH NUTS

R11.8 £ 0.2 , X4
] | /

||
\
FF 100 uAu

\
120 uBu

409.2

DIMENSIONS ARE IN MILLIMETERS

395.4+0.3

DIMENSIONAL DRAWING: ET1790L

%>%7 ADJUSTMENT RANGE =3 TO 9MM

INSTALLATION NOTES:

1. ATTACH BRACKET "A" TO CUSTOMER PANEL (ALL FOUR SIDES)
WITH INCLUDED SCREWS

2. ATTACH BRACKET "B' TO TOUCHMONITOR (ALL FOUR SIDES)

3. PLACE TOUCHMONITOR INTO CUSTOMER PANEL OPENING,
TAKING CARE NOT TO DAMAGE FOAM SEAL

4. ADJUST DEPTH OF BRACKETS "B" SO THE MONITOR IS
FLUSH WITH CUSTOMER PANEL

5. SECURE TOUCHMONITOR TO BRACKET "B" FROM BEHIND
WITH INCLUDED SCREWS

01

SHEET 2 OF 6

CUSTOMER PANEL
(NOT INCLUDED)

MIN THICKNESS = 3MM
MAX THICKNESS = 12MM

MS601691

DATE: 01/06/2016

REV: A




INTELLITOUCH, ACCUTOUCH, AND SECURETOUCH MODEL

368.4

306.4

337.9 ACTIVE AREA

270.4 ACTIVE AREA

DIMENSIONS ARE IN MILLIMETERS

DIMENSIONAL DRAWING: ET1790L

278.3
CENTERING LIP

u

u

u

SEE DETAIL A

ﬂ/ﬂ
A

@) @) e

e @

DETAIL A

CENTERING LIP, TYPICAL

SCALE 2.000

—— 47.5
j
g |
142, X2
g x
[TE

VESA MOUNT
M4 THREAD

MAX SCREW DEPTH = 7MM, X8

VGA VIDEO IN
DISPLAYPORT IN
DC POWER INPUT

© © ]
O O
-/ I
O O
- o 103.2
O O
a LA ]
= = X
—— 1342 ——= — 1342 —=

TOUCH USB OUT

SERIAL TOUCH OUT
(NOT AVAILABLE ALL MODELS)

/REMOTE OSD (INCLUDED)

— NG
= @j =
el M [e1_r

—— 142, X2 ——=

346 CENTERING LIP

SHEET 3 OF 6

MS601691

DATE: 01/06/2016

REV: A




DIMENSIONAL DRAWING: ET1790L

INTELLITOUCH, ACCUTOUCH, AND SECURETOUCH MODEL

WITH SIDE MOUNTING BRACKETS (2 INCLUDED)
REPLACEMENT BRACKET KIT P/N E147211 AVAILABLE SEPARATELY

389.4
— 181, X4 ﬂ —==— ADJUSTMENT RANGE = 1 TO -14
| Ch ilS) . e .
Dl\ ® ® ® ® !mﬂ\;[
° I -
[ﬂ N
| - : ' Bl )
745 THRU, X8
@® ®@ © . i © © ©
O O
327.4 | ,
® ® ) o o )
\ )
[’ J @ o o @
o) O @ @ g — I — @
——BRACKETS IN f o
HORIZONTAL POSITION i I
I 0 3 @ ® | : 5
® cmd — =
D % % [S7)

R s
] | \X
BRACKETS IN

VERTICAL POSITION

CUSTOMER PANEL (NOT INCLUDED)

P MIN THICKNESS = 1MM
MAX THICKNESS = 14MM

+
RECOMMENDED CUSTOMER PANEL CUT-OUT

CHOOSE ONE:
"A" = CLEARANCE HOLES FOR M4 SCREWS

"B" = M4 THREADED HOLES OR M4 CONCEALED
HEAD THREADED STUDS WITH NUTS 170 A/B

279

+— 317.4

/ R6, X4 v
7

+ -

Il

— 170AB —
347 e |
glo

379.4
MS601691

DATE: 01/06/2016

SHEET 4 OF 6
REV: A

DIMENSIONS ARE IN MILLIMETERS




FRONT MOUNT KIT P/N E860319 FOR

INTELLITOUCH, ACCUTOUCH, AND SECURETOUCH MODEL ONLY

(ORDERED SEPARATELY, CUSTOMER ASSEMBLED)

2. IF CUSTOMER PANEL IS SHEET METAL: CONCEALED HEAD THREADED STUDS M4 WITH NUTS

¢) 4. 5MM HOLES THRU FOR M4 SCREWS

DIMENSIONAL DRAWING: ET1790L

4.8 =

IO
A

)
|®

[
®|

: J E——
Y e le

355.7

4054
R7.3 , X4
o~ 5 /
- I
(\
g :
3434
o] B
{\\
L o ) i
o -
MOUNTING HOLES, X8
1. IF CUSTOMER PANEL IS WOOD:
%/ ]
I
+ RECOMMENDED CUSTOMER PANEL CUT-OUT I 305 7
150
. |
R3.2 , X4
MAX =15
i
+ /
387.7
417.7

DIMENSIONS ARE IN MILLIMETERS

5, X8

429

166, X4

%

© =7

]
|
]
@

367

CUSTOMER PANEL (NOT INCLUDED)

MAX THICKNESS = 14MM

FRONT MOUNT BRACKETS (4)

(INCLUDED WITH FRONT MOUNT ASSY.)

SHEET 5 OF 6

MS601691

DATE: 01/06/2016

REV: A




DIMENSIONAL DRAWING: ET1790L

RACK MOUNT KIT P/N E939253 FOR
INTELLITOUCH, ACCUTOUCH, AND SECURETOUCH MODEL ONLY
(ORDERED SEPARATELY, CUSTOMER ASSEMBLED)

50.8
482.6 (19" 31.7
465
d R 4& ) -
66 | © T
O O X - ~ — — =
@ - FE E
@

- | ®
o o X a% o @ _ o
~ A s | B G @ © °© @ ® 7 ®

] ] © ©
o} O
146 266 399
| L § © ©

U U N | I © o o @

) L ___J
- O | O g o) o) O

1@% ] 1 I —

o o0
O O | 3 % O © J ! i O
| A
MS601691
DIMENSIONS ARE IN MILLIMETERS SHEET 6 OF 6 DATE: 01/06/2016
REV: A




	Sheet 1
	Views
	new_view_7
	right_8
	right_9
	bottom_10


	Sheet 2
	Views
	new_view_11
	right_12
	right_13
	new_view_15
	new_view_16
	new_view_28


	Sheet 3
	Views
	new_view_17
	right_18
	right_19
	bottom_20
	A


	Sheet 4
	Views
	new_view_22
	right_23
	right_24
	new_view_25
	new_view_26


	Sheet 5
	Views
	new_view_35
	right_36
	right_37
	new_view_38
	new_view_44


	Sheet 6
	Views
	new_view_39
	right_40
	right_41
	new_view_42



